NRTFrHEREKRXKE JEHIFR(R5.1.1~2.28)

KBBERESNGNOI=F(E, BEIE * * *  * % x TRRLTLET,

B 13z Al R
1 AR # 300
2 e M+ 180
2 A 7/ 180
4 kokk  skokok 150
4 el BHEF 150
6 kkk  kekok 120
6 sokk  skoksk 120
8 sokk  skoksk 99
9 sokk  skekok 97
10 skkk  kskk 90
10 kkk  kokk 90
10 skkk  kskk 90
10 INFR IRF 90
10 skkk  kskk 90
15 kkk kKK 69
16 kkk kKK 68
17 sokk  skoksk 67
17 sokk  kskk 67
19 kkk  kokk 66
19 kkk kKK 66
21 BrIER 3p 1T H 65
22 kokk  skkok 61
29 sokk  skksk 61
29 kkk  kksk 61
25 fokk  kekok 60
25 sokk  skoksk 60




NRTFrHEREKRXKE JEHIFR(R5.1.1~2.28)

KBBERESNGNOI=F(E, BEIE * * *  * % x TRRLTLET,

B 15z A A R
25 sokk  skoksk 60
25 fokk  kekok 60
25 sokk  skoksk 60
25 kokk  kekok 60
25 R EH 60
25 fokk  kekok 60
25 sokk  skoksk 60
25 | H# BER 60
25 sokk  skoksk 60
25 fokk  kekok 60
25 sokk  skoksk 60
38 kkk kkok 49
39 kkk  skkok 47
40 kkk  skkok 45
40 sk skokok 45
42 kkk kKK 44
43 kokk  skokok 43
43 kokk  skkok 43
43 MR 43
46 kkk  kekk 42
46 kokk  skokok 42
46 kokk  kskk 42
49 kokk  kokok 40
50 kokk  skekok 39
50 B4 BX 39
52 kokk  skkok 38




NRTFrHEREKRXKE JEHIFR(R5.1.1~2.28)

KBBERESNGNOI=F(E, BEIE * * *  * % x TRRLTLET,

B 13z Al R
o2 LD ALV 38
52 | Alhb HlGE 38
52 2l BF 38
56 sokk  skoksk 37
56 skokk  skekok 37
56 sokk  skoksk 37
59 dokk  kekok 36
59 sokk  skoksk 36
59 KA R 36
62 kokk  kskok 35
62 fokk  kekok 35
62 kokk  kskok 35
62 dokk  kekok 35
66 kokk  kekk 33
66 kokk  kokok 33
68 BEH FZ 32
69 K KiE 31
69 XE D— 31
69 x = 31
69 sokk  skoksk 31
73 fokk  kekok 30
73 sokk  skoksk 30
73 fokk  kekok 30
73 sokk  skoksk 30
73 fokk  kekok 30
73 sokk  skoksk 30




NRTFrHEREKRXKE JEHIFR(R5.1.1~2.28)

KBBERESNGNOI=F(E, BEIE * * *  * % x TRRLTLET,

B 13z Al R
73 XA B 30
73 hH 5T 30
73 sokk  skoksk 30
73 kokk  kekok 30
73 sokk  skoksk 30
84 fokk  skokok 29
85 sokk  skekok 27
85 sokk  skoksk 27
85 sokk  skekok 27
88 kokk  kskok 26
88 fokk  kekok 26
90 sokk  skoksk 25
91 kkk kKK 24
92 sokk  skoksk 23
92 sokk  skoksk 23
92 I 1S3 23
95 kokk  skokok 22
95 BAAR &4 22
95 fokk  kekok 22
08 soksk  skekok 20
99 fokk  kekok 19
99 kokk  skekok 19
101 kokk  kskk 17
101 kkk  kskk 17
103 kokk  kskk 16
103 =H KK 16




NRTFrHEREKRXKE JEHIFR(R5.1.1~2.28)

KBBERESNGNOI=F(E, BEIE * * *  * % x TRRLTLET,

B 15z A A R
105 kokk  kskk 15
106 kkk  kokk 14
106 kkk kKK 14
106 kkk  kokk 14
106 kkk kKK 14
106 kkk  kokk 14
106 kkk  kokk 14
106 kkk  kokk 14
113 kokk  kskk 13
113 kkk  kokok 13
113 kokk  kskk 13
113| &K I5F 13
117 kkk  skskok 12
117 =/ A 12
119 sokk  skoksk 11
120 kkk  kskk 10
121 kokk  kskk 9
122 kkk  skksk 8
122 AR =4 8
122 kkk  skksk 8
122 kokk  kskk 8
126 sokk  skoksk 7
126 kokk  kskk 7
128 kokk  kekk 6
128 kokk  kskk 6
130 sokk  skoksk 1




NRTFrHEREKRXKE JEHIFR(R5.1.1~2.28)

MBBER LSO oI, BRIE * * % * * * TRALTVET.
IG5z 4 Bil R

131 skokk  skoksk 0




